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1. Josififes sSenaensfda @it 8 swsfa cdits

dz,3x + 1,2z +1,6p— 1,3y + 6

° Watch Video Solution

2. (3z + 1)-93 Joulififod TYTICID TP sited Jof foa 4@ sm 3

TRAMBBITD M1 |

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_sFdXKaLsQEzh
https://dl.doubtnut.com/l/_lipAnSX3FAnv

3. (6p — 1) -a8 Jroelififod RYTIID S4B Siited Jof foa I 5m 3

TRAMBBITD M1 |

° Watch Video Solution

4. 2z + 1 -3 Aosififod MRS SAmD sited Jtot fog 4@ dw 8

TRAMBBITD M1 |

° Watch Video Solution

5. 3y + 6 -2 JASElfIfEed MYUTIATE SIS siited ot fog 4 9u 3

TRAMBBITD M1 |

° Watch Video Solution

6.52%-9 5-a7 25 % 3 5x -QF M@t QIR z2-aF M@t

.y l


https://dl.doubtnut.com/l/_lipAnSX3FAnv
https://dl.doubtnut.com/l/_Rt1I7LxVfQF3
https://dl.doubtnut.com/l/_ifLbZMEPDKVe
https://dl.doubtnut.com/l/_TryEgZmiyo6B
https://dl.doubtnut.com/l/_QiWj7FtCGm9e

| ¥ Vvatch video sSolution J

7.(9 + = — y) a8 JoEIfAfoD FUTHIAND SIAMS siited forag dot Aeia

3 Bl AT ol |

° Watch Video Solution

8.(9 + x — y) ACHMIIGD FUTTIIET x @ y -a7 725 Bt ?

° Watch Video Solution

9, T foB FYUTIATAIT AMfBTd TGRAMP [T Bt : 8x

° Watch Video Solution

10. JISHTAfOP TUTHIAIT AMGD S [T BET : 12xy

° Watch Video Solution



https://dl.doubtnut.com/l/_QiWj7FtCGm9e
https://dl.doubtnut.com/l/_kRQ8iSfE53Ec
https://dl.doubtnut.com/l/_RS8Uq5oBgmNI
https://dl.doubtnut.com/l/_LIYDfo9Aj8fA
https://dl.doubtnut.com/l/_JltFcPPz93ij

11. FSHIED FLTIIAT SMIBTH SIS RIS I = 322y

° Watch Video Solution

12. FSHIED TUTITEAT SBE S RIS Bt : 9y

° Watch Video Solution

13. JASHIIED SFRUTIAIAT SMIGTP SIAMD [GIT FET : 2xyz

° Watch Video Solution

14, AT STRUTIIEIT AWBTE TRAMS [ETT BRI : 229>

° Watch Video Solution

15. JSSHfIED TS SBD SIAMTD [T Bl : 3x


https://dl.doubtnut.com/l/_p5uX1mcWJStD
https://dl.doubtnut.com/l/_GHx2qLscMAGs
https://dl.doubtnut.com/l/_tWQkZqyB6jah
https://dl.doubtnut.com/l/_1oMWjanSb5mW
https://dl.doubtnut.com/l/_fXFqosA9Sric

° Watch Video Solution

16. y? 93 >TR5T (T : 8y

° Watch Video Solution

17. 2% a3 a5t @t 222 — 2 — 3

° Watch Video Solution

18. Jrowlififod fXTaTeT (odt Sl : x 97 N y @It |

° Watch Video Solution

19. JSulififod fxaTeT todt Sl : z (AP x it |

° Watch Video Solution



https://dl.doubtnut.com/l/_fXFqosA9Sric
https://dl.doubtnut.com/l/_NjAjjqOS10oH
https://dl.doubtnut.com/l/_q9bDXboMAt3w
https://dl.doubtnut.com/l/_vRvQYMCIJsaQ
https://dl.doubtnut.com/l/_vPiysUfwDPdy
https://dl.doubtnut.com/l/_xFtpjPuXcWzz

20. Jowlifafos afratet (odt FE : p -99 [FBEI N q @It

° Watch Video Solution

21. Jrowiififod AIIET todt BRI : x -97 I N x B |

° Watch Video Solution

1
22, Jrowlififos et (od @ : x 8 y -97  BRBE 7

° Watch Video Solution

23. JIotififed AT todt @I : a 3 b 99 IITHET 4 W A 7 (Qist

BT |

° Watch Video Solution



https://dl.doubtnut.com/l/_xFtpjPuXcWzz
https://dl.doubtnut.com/l/_z3Y6GkKCVFsr
https://dl.doubtnut.com/l/_BQrkuFX3p1ur
https://dl.doubtnut.com/l/_g6Yfk4gGf4vf

24, Jrowtifafos Tt [od QT : x -97 [FBWI N y -7 LS @t |

o Watch Video Solution

25. Jowlififos AR (o TR : x 8 y 97 T8 QATF x 8 y -9 BT
st |

o Watch Video Solution

26. x A9 8l (¢TI : Sbry + 9y

o Watch Video Solution

27. 2 Q3 M5t @t : 7 + 22 + 22

o Watch Video Solution



https://dl.doubtnut.com/l/_3dMTxbxdPm6S
https://dl.doubtnut.com/l/_rOq33CHy6zNG
https://dl.doubtnut.com/l/_dRZzRLTMbOe6
https://dl.doubtnut.com/l/_8MuvaxxrDZym

28.y a9 Rst (LT : 222y + 7

° Watch Video Solution

29. 2% a7 >Test (Tt : 222y + 7

° Watch Video Solution

30. 164 JATIfIfoD FUTHIAIBE TAmd Slited folad WIBIE FfSg
HOTHI6 Ad @FIfTd TmeRfT (I8 3 ©Id Fodhr YTt ot @t

2y° +y

° Watch Video Solution

31. A6d AGEIED FUTIIANBE TIAMD Sited forad WD ToT
HOTHI6 Ad @FIfTd THmeRfT o8 3 ©Id Fodhl YTt f @t

m2y + a:y2 + xyz

| e |


https://dl.doubtnut.com/l/_aCWQune1v6Tt
https://dl.doubtnut.com/l/_HggDPO2eEg4W
https://dl.doubtnut.com/l/_41uHniQo5xoR
https://dl.doubtnut.com/l/_CSCtI4pZf0cF

I & Watch Video Solution

32. A4 JSEHfIfod FUTIIANBE Tdmd slited fotag AWIPIE ToT
HOTHI6 Ad @FIfTd TmeRfT I8 3 ©Id Fodht YTt f @t

xy + 2m2y2

° Watch Video Solution

33. A6 ASENfIfEd FUTIIANBE TAmD Slited fotag AWPIE ToT
HOTHI6 Ad @FIfTd TmeRfT (I8 3 ©Id Fodhr YTt ot @t

5T + 2y

° Watch Video Solution

34, A6 JACEIfAfoD FUTFIAT $IP BIGH AT SMsferd STUTers STest

(Numerical coefficient) (eTT: 22 + 3y

° Watch Video Solution



https://dl.doubtnut.com/l/_CSCtI4pZf0cF
https://dl.doubtnut.com/l/_jtxkgLQdXDu3
https://dl.doubtnut.com/l/_UsOZJsD7HzQX
https://dl.doubtnut.com/l/_MZ1mIHdLoJsQ

35. A6 JASCH{IOT NUTIET &35 2IG THT SMSAq FeUTgeTd ast

(Numerical coefficient) @t : 2% + 22 + 5

° Watch Video Solution

36. AN JACHI{IOT NUTIET &35 BIGT THT MBI FeUTgeTd ast

(Numerical coefficient) ((T®T: x + Szy — Ty

° Watch Video Solution

37. A6 Aoelfifod RATIAT $IS BIGT BT g TRYTFAS est

(Numerical coefficient) (cTT: —5 — z

° Watch Video Solution

38. Al JATHIIOT NUTIET &5 BIG TAT MBI FeUTIgeTd ast

(Numerical coefficient) @T: 2% + = — y

| e |


https://dl.doubtnut.com/l/_5EABbuT7iQ5U
https://dl.doubtnut.com/l/_5i2J1vWkJXe3
https://dl.doubtnut.com/l/_ctzDLDa0h01X
https://dl.doubtnut.com/l/_HB5mr9a0lg35

I & Watch Video Solution

39, AN JATH{IOT NUTIET &5 BIG THT MBI FeUTgeTd ast

(Numerical coefficient) (eT(4T : % + 4

° Watch Video Solution

40. N6 ASHNAOD STYTATIT x TAVDYE A0 I “msferg x-a7 Sest

@l g’z +

° Watch Video Solution

41. 16 I STRYTITATT x SIAMBYE ATid It WS eTd x-99 st @t

: 1522 — 82z

° Watch Video Solution



https://dl.doubtnut.com/l/_HB5mr9a0lg35
https://dl.doubtnut.com/l/_gcWfJEGYXEPr
https://dl.doubtnut.com/l/_eunGuN3eJ9nR
https://dl.doubtnut.com/l/_xIFIrJZg57hJ

42, A6 JCHfIfed STRUTIFIATT x SRAMDBYE dtid I dmsferd x-a7 siest

C{: —x —y+ 2

° Watch Video Solution

43, TG JCETIOD TUTHIART x SIAMBYF Fd It M TeTd x-a7 ost (@t

44+ y+ yx

° Watch Video Solution

44, B ASHNAOD STYTHTIT x TRAVIYE A0 I “msferg x-a7 st

@t 2 + = + zy?

° Watch Video Solution

45, A6 JACHfIfeD STRUTIFIATT x SRAMDBYE dtid I dmsferd x-a7 Siest

@t : 15zy* — 14

| e |


https://dl.doubtnut.com/l/_VsWCSNfPsoC0
https://dl.doubtnut.com/l/_14KSBcSvyMUX
https://dl.doubtnut.com/l/_HbE6BPM1ppKj
https://dl.doubtnut.com/l/_lZSJkaMcZYjG

l & Watch Video Solution J

46. TIIT I x I27 | S AN (AP 2 I2EL I | A0 oA &1

I 117 BT |

° Watch Video Solution

47. OIS A x 16 Proag Fiert ¢fdlfe | Fiq onFig siAt Fierg Fedvd Gama
(A 6 b @ Fie! (STt | onify 8 T oA @16 Fosfer Hreg Jiar e
I BT |

° Watch Video Solution

48. Qe TGS x DIBIK (WL, (z + 15) BIBIK AN, (22 + 3) BIBIF =T

[BATST | Qe WIS (FT6 DO BB B R 17 BT |

° Watch Video Solution



https://dl.doubtnut.com/l/_lZSJkaMcZYjG
https://dl.doubtnut.com/l/_MKmzOZLk8Rhi
https://dl.doubtnut.com/l/_nvbwXeBgPqrs
https://dl.doubtnut.com/l/_s8dpGrbURtae
https://dl.doubtnut.com/l/_B2zVSLSFNI6A

49, 5532 PEGT x v Fer SAfFo fodt | PG IF @it (32 + 13)
U P SARO fod | SToder FE @lAT SAfEfo PRIGF 61 do @Rt
et fo1id ST |

° Watch Video Solution

50. TSt &Sy (22 + 19) 15 Fisie [ife @z | (77 slode of (5z — 8)

Iistor [ Irfed | T aiowdd Qaqlg slodla do QT Jisker [Ife

PERS T BT |

° Watch Video Solution

51. A 9f6 JIOT 8x BIdt Oy A | 767 afo J1oT fofd (3 — 15) Bidt

I DA | Tolv afEHITT Fo BIb! TBY SEA 1717 BT |

° Watch Video Solution

52. (ST BT : 3a + b, 2a + 4b, 5a — b

f ) |


https://dl.doubtnut.com/l/_B2zVSLSFNI6A
https://dl.doubtnut.com/l/_z9bPrXufNp2y
https://dl.doubtnut.com/l/_imcI8yeWErpy
https://dl.doubtnut.com/l/_NbDb7fnB11oI

_ o Watch Video Solution

53. ST Bl : ba — 4, 2a + 3,2a — 4

o Watch Video Solution

54, (AT B@T: 6a> + 7a + 3,9a> — 2a + 7, 4a® — 2a + 9

o Watch Video Solution

55. (15t B@H : 2a%b + 5b%a + 7, 3a®b — 2b%a + 6, 8a’b — b*a + 9

o Watch Video Solution

56. (151 I : dey + dx + Ty, — ey — y — 3z, 3zy — 3y + 2z

o Watch Video Solution



https://dl.doubtnut.com/l/_NbDb7fnB11oI
https://dl.doubtnut.com/l/_RCOcrOt853aE
https://dl.doubtnut.com/l/_9ROz3VaVoEWm
https://dl.doubtnut.com/l/_YEY56jAbOtET
https://dl.doubtnut.com/l/_ygZVA7STLbgw
https://dl.doubtnut.com/l/_jHBQkuexuSSX

57. st @ : (8z + 6y) (AW (2 + 3y)

o Watch Video Solution

58. /AT SEI : (— 3m? + 2m + 2) @ (m” — 2)

o Watch Video Solution

59. TSt St : (22 + 3y) D (8 + 4y + 7)

o Watch Video Solution

60. TS ST : (— 9a® + 3a + 2) (W (5a” + 2a — 1)

o Watch Video Solution

61. [AEIsT Bl : x A ( — 222 + 3y?)



https://dl.doubtnut.com/l/_jHBQkuexuSSX
https://dl.doubtnut.com/l/_GaO3fPLi9ufr
https://dl.doubtnut.com/l/_4Wk3bi4aAXo3
https://dl.doubtnut.com/l/_9EcFpfPSeggo
https://dl.doubtnut.com/l/_MKMobfpEvukC

_ o Watch Video Solution

62. REAIST @1 : (322 + bry) A (222 + zy + 3y?)

o Watch Video Solution

63.57c I : 1722y — 3zy® + 1o’y + 2zy?

o Watch Video Solution

64.59¢T B : —5b + 18a + 6b — 2a

o Watch Video Solution

65. 51deT BTl : 4m”* + 3n® — (6m” + Tn?)

o Watch Video Solution



https://dl.doubtnut.com/l/_MKMobfpEvukC
https://dl.doubtnut.com/l/_ebIKhkWfrCgj
https://dl.doubtnut.com/l/_XrTqZPRnTFNj
https://dl.doubtnut.com/l/_20FcGOFCSLXz
https://dl.doubtnut.com/l/_pYdhTf63pl6m
https://dl.doubtnut.com/l/_WAxAW7MCaAE7

66.59c1 dWl:a — b — (b — a)

o Watch Video Solution

67.5731 Bl : (6p — 49 + 2r) + (2p + 3q — 4r)

o Watch Video Solution

68. 5T PWI: —z +y+ 2z — (2z — 3y + 2)

o Watch Video Solution

69.5eT @I : (z° + 2z — 5) + (3z® — 8z + 5)

o Watch Video Solution

7059 W : (Tz* — 3z + 3) — (22> — 13z — 7)



https://dl.doubtnut.com/l/_WAxAW7MCaAE7
https://dl.doubtnut.com/l/_HLeVo50yMiV8
https://dl.doubtnut.com/l/_eFDyb3EYcTz1
https://dl.doubtnut.com/l/_oeTt3LdBDrol
https://dl.doubtnut.com/l/_SKaZEK20UFAN

° Watch Video Solution

71.573T Bl : 6a — 2b — ab — (3a +b — ab) +2ab— b+ a

° Watch Video Solution

72. 3R] SNITE S5 4 6 (7 fFA a@EA | 4f ¢Itvg wiy 5 Bt | onify

JIFA TAT 33 9P3 I (I O3 76 B IR | fo1lq S (et &iify 3

I (16 PO BIBIF (A R |

° Watch Video Solution

73. @iy 2 5 Yiot fHAeTy | afs Yol niy x 5idt | WiNid Ig fouias 6 6

YTot fFtEe | 153 Wfodited dfefd Yol Wy SIiEid YIeld AiEsd (AP 5 5t

@ | Sy (16 0 BB Yol f[eAeT 3 Ffodie (16 do B Yot
e NI BT |

° Watch Video Solution



https://dl.doubtnut.com/l/_SKaZEK20UFAN
https://dl.doubtnut.com/l/_J9yvLzTItMzI
https://dl.doubtnut.com/l/_udYei6ZRrXrC
https://dl.doubtnut.com/l/_idxPRLsX5t5i

74. OIS SIHIMA BT dfoSt i | S8y &fIT lasiatiid SoTd 5 BIdid
A0 3 T[T 3T TR | I8 AT 2aRialtd ST 10 BIFI (GIAhe
I ST AA(E | WIS dBTITME x TH slagiat aoie | 6y sTedo
AR AT (BT 8 T T AR | N7 S Mt SO BIBIF (AP 3 I

(PAT 20T | AR FO BIBIF (AT T (AT AT |

o Watch Video Solution

75. 64 ASHIOD RYTAAINT B IR BHA Dt o 0dT: 5z x (z + 2)

o Watch Video Solution

76. N3 ASHIIGD SUTAIAINT 87 FE BTHA Dt T Mt : —22(3 — )

o Watch Video Solution

77. 6 ASHITAED STUTHIEANT B B BB DI 77 Gt : (T2 + 2)2z

| e |


https://dl.doubtnut.com/l/_yP41PX3EVsCR
https://dl.doubtnut.com/l/_ME5NUUKNPf2A
https://dl.doubtnut.com/l/_MZsVX17PeD0u
https://dl.doubtnut.com/l/_2Pt6Dld74bML

| &J Watch Video Solution

78. 4164 ASHNTIOD FRUTHTEINT BH W BADeT B T 0l : b* (a® — 2ab)

° Watch Video Solution

79. 67 AcElfifod FUIIANT 87 @ 7B D W @l -

41(l2 + ml + n)

° Watch Video Solution

80. N6 Jowllfifed JUTIANT 87 IE@ JABA I 29 ol

2 (a2 + aczy + ya:2)

° Watch Video Solution

81.3x(4 — 2z) — 2(x — 5)-93 AT Ji7 ST |

Y.


https://dl.doubtnut.com/l/_2Pt6Dld74bML
https://dl.doubtnut.com/l/_ONk1eOQONSHq
https://dl.doubtnut.com/l/_mbHTXoI9Ec9y
https://dl.doubtnut.com/l/_7TBmBggh9k6Q
https://dl.doubtnut.com/l/_QjmD8fAutkgi

| ¥ Watch Video Solution

82.a(2a + b — 3c) 8 4a(2¢c — a) (ST FT |

o Watch Video Solution

83. 9fOB%(a B PW BT AT W : ab, (a® — b?)

o Watch Video Solution

84. afoGH (@ B W BB AT FEI : 4a, (a + b — ¢)

o Watch Video Solution

85. afoTHa B I BB AT @I : 6a°b?, (2a + b)

o Watch Video Solution



https://dl.doubtnut.com/l/_QjmD8fAutkgi
https://dl.doubtnut.com/l/_Qe5QrJWaYbUN
https://dl.doubtnut.com/l/_Pl5L7gFxjXzz
https://dl.doubtnut.com/l/_SxZGY2viWnsS
https://dl.doubtnut.com/l/_IqvFvsntKe30
https://dl.doubtnut.com/l/_hUjwFtzzZM0R

86. AfOTH @ B IW BB AT FE! : 2yz, (wzy — yzx + zzy)

o Watch Video Solution

87. afot%(a B PW BB AT F@I: 0, (ab + be — ca)

o Watch Video Solution

88. 3391 dWI : Tx(2z + 3) — 5z (3z — 4)

o Watch Video Solution

89.MIADdW : z(z —y) +y(y — 2) + 2(z — z)

o Watch Video Solution

90. 3Je1 Wl : 2x — 6x(5 — 8z — 3y)

Y.


https://dl.doubtnut.com/l/_hUjwFtzzZM0R
https://dl.doubtnut.com/l/_vZ3HWSn0Ofu7
https://dl.doubtnut.com/l/_wcBDumZMgmxQ
https://dl.doubtnut.com/l/_BbvOWQEqfKvd
https://dl.doubtnut.com/l/_9gB0WzHNOUYO

| ¥ Vvatch Video Solution )

91. 51T STl : 7a — 2(5a + 6b — 7)

° Watch Video Solution

92, BT EfIT x TR O y 6 IR M3 2@ | fFF I8 &fI© x SR
ot (y -+ 3) 6 @ msyr 2% | WRIF gy @fw (z + 11) S
OB (y + 10) 6 92 3T 202 | 277 S et S8, I8 3 13y @&fIq
grore Ao (@16 Fo @ sy et aR foafe v fFfaw @b do @

3T 20T |

° Watch Video Solution

93. (3z + 2y) x (4x + 3y) Iv T T |

° Watch Video Solution



https://dl.doubtnut.com/l/_9gB0WzHNOUYO
https://dl.doubtnut.com/l/_ZXbd0svJWIDT
https://dl.doubtnut.com/l/_huE3P61Gjy0Q
https://dl.doubtnut.com/l/_NlphgFuKYf92

94, (7:132 —yz) X (x — y) PO T LT |

o Watch Video Solution

95. (2 + 3y) @ (z + y + 2) -MT BT BT G FWI |

o Watch Video Solution

96. (3a + 2b) @ (a — b — c) T B FIIF G FAI |

o Watch Video Solution

97. 37 Wl : (10 — 3z)(7 + z)

o Watch Video Solution

98. B dWI: (11z + 2z)(8 — 2y)


https://dl.doubtnut.com/l/_vEFq3BFJWsrX
https://dl.doubtnut.com/l/_6BWbuojxJ7bK
https://dl.doubtnut.com/l/_i4ydUWzG8eUi
https://dl.doubtnut.com/l/_qJmBKBlrlaN3
https://dl.doubtnut.com/l/_sATBmYyMfTFt

° Watch Video Solution

99. 37 Pl : (a + by)(4a — 6y)

° Watch Video Solution

100. B I : (2x2y — y2) (3z — 5y)

° Watch Video Solution

€T Yy 2z 3y
101. FRF(?IT:(———) =
81 B (3 5>

o Watch Video Solution

2a> 1 3a 2
102.37dl: | — — — —_ = =

o Watch Video Solution



https://dl.doubtnut.com/l/_sATBmYyMfTFt
https://dl.doubtnut.com/l/_4yUoL6KuDQUS
https://dl.doubtnut.com/l/_P474us0CMZ6Y
https://dl.doubtnut.com/l/_lGSnWoCoLpoN
https://dl.doubtnut.com/l/_xi48acnP1pqS

103. BIFT II 9T @1 : 2a x b=

o Watch Video Solution

104. 5151 99 999 ST : 6ab + 2a =

o Watch Video Solution

105. 315! T 999 BT : 6ab + 3b=

o Watch Video Solution

106. H1BT T 4 SWT : ( — 8a) x (— 3b) =

o Watch Video Solution

107. BB 99 979 B : 24ab + ( — 8a) =


https://dl.doubtnut.com/l/_Hwbl6A1HffTd
https://dl.doubtnut.com/l/_FyHQNTQMxRqd
https://dl.doubtnut.com/l/_eg6DcjAZxxUI
https://dl.doubtnut.com/l/_XCLZB1o7fWFv
https://dl.doubtnut.com/l/_3lnlxmUumpFK

° Watch Video Solution

108. BHIBT T 499 BWH = 24ab <+ ( — 3b) =

° Watch Video Solution

1. Aie7 Joulififos wfag Ty it Jmsfer orem aiam 9@ @t -

217) Y, 1217:% 13y27 - 517) ]-Sya _ 4:13y, _ 2y27 21$2ya 3:177 3$y, -2y, — Y, —

° Watch Video Solution

2. AN (St smferd TdT @RSt S om 8 @IASfeT Pt ow of e

AT (eTedlt : 2x,3y

° Watch Video Solution



https://dl.doubtnut.com/l/_3lnlxmUumpFK
https://dl.doubtnut.com/l/_68AUl1m3idVc
https://dl.doubtnut.com/l/_kMzyO2pIRlfN
https://dl.doubtnut.com/l/_BRJlglGYPzgM
https://dl.doubtnut.com/l/_NirJSIr5YXIS

3. AN (St smnferd JdT @RS S om 8 @IASfeT Pt sw of e

Ut Tt : 7x,8x

o Watch Video Solution

4, A (SIS *MBTT JT SIS Tt o 8 @IABfeT Tt sw of I

It Tt : -29x,6x

o Watch Video Solution

5. 164 (SIS smBfeTd TGy @RS St 9w 3 BIASfAT o om of I

AT (1T : 4xy,6yz

o Watch Video Solution

6. AN (ST sMBferd JLT @ABT S om 8 @IABfeT TPt v of e

AT (1T : -15yx,8xy



https://dl.doubtnut.com/l/_NirJSIr5YXIS
https://dl.doubtnut.com/l/_yA0z9hCPPUcf
https://dl.doubtnut.com/l/_kTDDgsXHwDCZ
https://dl.doubtnut.com/l/_rj4QuexH7ezK

| " vvatcn Viaeo oolution J

7. N6 (SIS ASfAT TLT @RS Tt o7 3 (SRS et om of (e

T @t : 5y, 622y?

o Watch Video Solution

8. Ao d ASifIfod MUY (@ Sufbte 22 9w Wite G5 @t 932 22-a7

STest @t : 5 — xy?

o Watch Video Solution

9, A6 d ASwIfIfod MUY T Aufbte 22 d9u WIe O6 @t 932 22-a7

STast @t : — 622 — 8y

o Watch Video Solution



https://dl.doubtnut.com/l/_rj4QuexH7ezK
https://dl.doubtnut.com/l/_YDhOfRidt57F
https://dl.doubtnut.com/l/_H66kg2kPVWTt
https://dl.doubtnut.com/l/_Fw16nyXvUUJv

10. 63 ASTfifod FLTTIART (T Swb 22 v e G5 @t 932 22-a9

STgst (@t : 322 — 152y — 8y

° Watch Video Solution

11. A6 ASHITATED TYTIIIATT (T W6t 22 SW @It CI6 @ 932 22-a9

S5t @t : 2 4 3a%y + 4z

° Watch Video Solution

12. T d ASHITATED STUTIFIATT (T sWiBro 22 9% Bt Af6 @l 932 22-a9

st @l : 5 — 62%y? + 6y

° Watch Video Solution

13. 1 {Bal BTG Uiy, 1 &t S (67T 25 BIdT @R | TW 1 et Bifed wrid x

BIdl 2, O 1 fHslT BATIBIK Ui Do BIbI 2 2117 ST |

| e |


https://dl.doubtnut.com/l/_UHbSXTOVg5fx
https://dl.doubtnut.com/l/_fgSd4GtxWvfF
https://dl.doubtnut.com/l/_bdMAvDLscKbp
https://dl.doubtnut.com/l/_T4alrlLQqqdz

l & Watch Video Solution J

14. 1 fHslT BTG Wiy, 1 ST W] (BT 25 BIBT @ | 1 fHSIT ©ile]d Wi x
BIpt | Q92 1 fRel SiSwad i T 1 fHelt ©ie]d mitad (617 30 Bidt @ 2ot

B[ (15 PO BId! YD A 2117 BT |

° Watch Video Solution

15. (2z + 25)8 (z + 30) (ST BT |

° Watch Video Solution

16. IS SRDE (BT (ST | SRD TFT AT B I GRIeTTT ©Iad

I3RS YT BIR | a8 AP AIRDET (FI6 BIBIG MU $O 20 AN f=o71q

I T |

° Watch Video Solution



https://dl.doubtnut.com/l/_T4alrlLQqqdz
https://dl.doubtnut.com/l/_301DWGztm5wl
https://dl.doubtnut.com/l/_KQxuZ2Bz0hvs
https://dl.doubtnut.com/l/_1nNj89YTYhVn
https://dl.doubtnut.com/l/_2YzGda6tD7At

17. (1T T : -3%,-10%,-2x

o Watch Video Solution

18. (22 + 3y) + (3z + ) -a7 T st |

o Watch Video Solution

19. 5x (ATP 2x IS BET |

o Watch Video Solution

20. @I : {( — 9a) + ( — 2a) + ba}

o Watch Video Solution

21. (52° + 3z + 2) QR (z° — 2z + 1) QI AT |

| o WMl L\ dan Ol iklmn


https://dl.doubtnut.com/l/_2YzGda6tD7At
https://dl.doubtnut.com/l/_phZUmhRDU4gz
https://dl.doubtnut.com/l/_rZkdgj1y4hus
https://dl.doubtnut.com/l/_46XOhqdRDKxw
https://dl.doubtnut.com/l/_Dg4qT0dalmdS

& ___ryvalillil VIUCU JViutuiviil

22.(2a + 3b — 5) QT (b+a) ST BT (BT BT |

o Watch Video Solution

23.(2z° + 3z + 5) + (32® + 4z + 6) TO 2T (LT |

o Watch Video Solution

24.(33:2+2:1:—4)—(mz—m+3)aﬁ§§[(ﬂ2ﬁ|

o Watch Video Solution

25. RGO SIeTalet! (22° + @ + 2) 8 (¢ + 2z + 2) ST FE|

o Watch Video Solution



https://dl.doubtnut.com/l/_Dg4qT0dalmdS
https://dl.doubtnut.com/l/_XqCME8LvB7Ob
https://dl.doubtnut.com/l/_mHHpL4baG8D0
https://dl.doubtnut.com/l/_oJxOJ7lM9vHf
https://dl.doubtnut.com/l/_oEsH8Mkwu0Bd
https://dl.doubtnut.com/l/_rOZyxYdjPvd2

26. ASHNTITOD YT (52° — 22 — 3) 8 (3z® + 3z — 2) TS ST |

o Watch Video Solution

27. (5z + 2y) 3 (6 + 19y) (IS BT |

o Watch Video Solution

28.(2z —y+3)8(8y —z — 1) ST I |

o Watch Video Solution

29.(7z — 3y + 2z + 3) 8 (22° + 5z — 42 + 1) T BT |

o Watch Video Solution

30. (7z + 3y) QW (2z + by) AR 932 T NIE S 9w IBNT DSl

TSt St et |


https://dl.doubtnut.com/l/_rOZyxYdjPvd2
https://dl.doubtnut.com/l/_81B4GA5xLFWX
https://dl.doubtnut.com/l/_AMp3ZIoaBAX7
https://dl.doubtnut.com/l/_OwkNOOlDZzT7
https://dl.doubtnut.com/l/_Tcb6Xs5tdqZH

° Watch Video Solution

31. 3y (ATP 5y IS BT 7O 3y-9F MY a7 (MY (QIHTT |

° Watch Video Solution

32.( — 9a + 6b) (A (7a — 10b + c) ATt ST T AT |

° Watch Video Solution

33. (22% — 5zy + 9y°) AW (3y* — Yyz + 2°) A W [AEASID B AT

TG B (et |

° Watch Video Solution

34, @I PWT: ( — 5z + 3y) 38 (18z — 15y)

° Watch Video Solution



https://dl.doubtnut.com/l/_Tcb6Xs5tdqZH
https://dl.doubtnut.com/l/_0N4mnNIAnBEA
https://dl.doubtnut.com/l/_bleu4M2Wctwr
https://dl.doubtnut.com/l/_BKfC1LzJLaWk
https://dl.doubtnut.com/l/_KDbdKzvPfgKy

35. ST PRI : (Ta — 8b + 2¢) 8 (2a + 3b — d)

° Watch Video Solution

36. RESTSEI : (4mn + m + n) QAP (— mn — m + n)

° Watch Video Solution

37. RS @I : (° + ¢* — pg + p’q) W (2¢% + 30° — qp + pg®)

° Watch Video Solution

38. I IA NI IEI : 5z + 3z

° Watch Video Solution



https://dl.doubtnut.com/l/_KDbdKzvPfgKy
https://dl.doubtnut.com/l/_CEBoctznRAm9
https://dl.doubtnut.com/l/_Lf3gOUVPFnJe
https://dl.doubtnut.com/l/_ABN3NfRHM5b6
https://dl.doubtnut.com/l/_XU84nEj7lRUE

39. J(H T NI @l : 9y — 3y

o Watch Video Solution

40. 9 I AT I : — 4y + Ty

o Watch Video Solution

4. TATA NI I : — 10z — 2z

o Watch Video Solution

42. 9 I NPT : 3a + 4a — 2a

o Watch Video Solution

43. 9@ A I dE@r: — Te — 22 + b


https://dl.doubtnut.com/l/_dMkvbVadtySR
https://dl.doubtnut.com/l/_ZHjf5fO96AJv
https://dl.doubtnut.com/l/_YzqNEoZJyk4p
https://dl.doubtnut.com/l/_bgd6vdONWEoU
https://dl.doubtnut.com/l/_Ff7GPpa15530

° Watch Video Solution

44, JH T RATIEI: 6p — 2p + 3p

° Watch Video Solution

45. JH I IR F@l: 422 — 222 — 322 + 22

° Watch Video Solution

46. T I 1 BE@I : 5a2b — 2a%b — 3ab + 8ab

° Watch Video Solution

47. 9@ A NI d@t : 322 — 622 — 222 — 22 + 622

° Watch Video Solution



https://dl.doubtnut.com/l/_Ff7GPpa15530
https://dl.doubtnut.com/l/_jyRPw0tO4yGr
https://dl.doubtnut.com/l/_biLaxVT7lCuo
https://dl.doubtnut.com/l/_JlauKOVNZqVH
https://dl.doubtnut.com/l/_ksLzr6QuEkAg
https://dl.doubtnut.com/l/_SGMjGUcy5J9P

48. AL BT (132> + = — 3) BB foed | OF (42® — 3z — 12) BT UB

DA | YA AT D@ T OIF DI WG PO BId! BINE |

° Watch Video Solution

49, 936 fagrow foAG Jred Wt IWEE (2 + 4) OfF, (2= + 1) O, 8
(4z — 8) OIfF | a2 fagrow AfPiET o ©f 2117 B (T |

° Watch Video Solution

50. — 822 + 8z 4 1 -ad A O @ISt IAT — 142 + 11z — 3 A o4

W |

° Watch Video Solution

51. 11z — 7Ty — 92 -(ATP DO [T A — 7z + 3y — 52 A7 NG BT |

° Watch Video Solution



https://dl.doubtnut.com/l/_SGMjGUcy5J9P
https://dl.doubtnut.com/l/_eXMwuHqhtTL4
https://dl.doubtnut.com/l/_Szzo2AL7yQzO
https://dl.doubtnut.com/l/_ouDLaDzTxc6K

52. (3z* + 4z) 8 (52° — z) -99 Q@SB (3z — 52°) -99 (A PO @

I BT |

° Watch Video Solution

53. (5+9z) a®R (6— Tz +4z°) 99 @D QA (2 — 9z) AR

(— 22% + 3z + 5) -7 (TP A DA |

° Watch Video Solution

54,5z 1 13 93 IGEIfod FeUTIIAId TIA QST TUA x= -2

° Watch Video Solution

55. (31 — 52?) 92 qewlfaifod YA HIA (A1t WA x=2 3 5

° Watch Video Solution



https://dl.doubtnut.com/l/_ouDLaDzTxc6K
https://dl.doubtnut.com/l/_Zs0RpPoZFZmr
https://dl.doubtnut.com/l/_JCrOIcPyzlRM
https://dl.doubtnut.com/l/_tlXHcp2lHWug
https://dl.doubtnut.com/l/_EBoOBGl31fsE

56. (7z — 2) 93 ASHIIED NUTAIAIRT T ST TUA x= -2

° Watch Video Solution

57.12a” + 2ab + b° 8 (a® — b*) 97 T QIS WA a=1,b=3

° Watch Video Solution

58. x=5 (T A6 ASHIOD YNNG TN @I BE! : 62 + 11

° Watch Video Solution

59. x=5 (T A6 ASwHfIfOD NYUTIIANT T @ B : % +2

° Watch Video Solution



https://dl.doubtnut.com/l/_EBoOBGl31fsE
https://dl.doubtnut.com/l/_efdSXhCzZQrm
https://dl.doubtnut.com/l/_GmhncH4bDAaY
https://dl.doubtnut.com/l/_ibP289Yt2Gcn
https://dl.doubtnut.com/l/_dj623UrAwbjW

60. x=5 3(cT Aod ASHNAED FTUTTHITIod FIH @@ B : 22 + 22 — 1

° Watch Video Solution

61. x=5 a(cT NI6d AouifafED FLTTHIBd TN @F F@T: 2° + 8

° Watch Video Solution

62. x=5 30T A6 ISwTfifod FUTTITI o T4 @F BEr: 10 — =

° Watch Video Solution

+5
63. y= -3 I A6 AoelfAfED FUTHIAIBIT TI7 @ BRI - yT

° Watch Video Solution

64. y= -3 I B ACHIAED TUTIANCI TIH @I IET: 5 — y


https://dl.doubtnut.com/l/_M2mNqC9PxcCw
https://dl.doubtnut.com/l/_1ZMpRlC8iwuo
https://dl.doubtnut.com/l/_lbad3cZ3uYeX
https://dl.doubtnut.com/l/_VpMVkLAFfyCD
https://dl.doubtnut.com/l/_GPCMPaJHf4VX

° Watch Video Solution

65. y= -3 A A6 Aoelfifod FUTIIAIDT TI¥ @I IR : y + 8

° Watch Video Solution

66. y= -3 (T N6J ASHNIfED SIUTIAIGT TN @K @M : y2 + 2y + 3

° Watch Video Solution

67. y= -3 T A6 ASelfAfED STRUTINBT TIF @ @ : 3 — 1

° Watch Video Solution

68. N6 AowNfifod FUTHIANGT TN (ST TIAx =2 8y=-1: 22 + Ty

° Watch Video Solution



https://dl.doubtnut.com/l/_GPCMPaJHf4VX
https://dl.doubtnut.com/l/_IHxzTDCiQByh
https://dl.doubtnut.com/l/_SgALcg0zRaud
https://dl.doubtnut.com/l/_XAdpulN9Yv3M
https://dl.doubtnut.com/l/_Xhn0FU8yfzwh
https://dl.doubtnut.com/l/_um8Oa6l2YgQC

69. N6 ATwlififod LTIt g (itet A x =2 8y =-1: 22 + y?

° Watch Video Solution

70. N6d Aoulfifed YT FN st WA x = 2 8y = -1 :

z? + Tzy + y°

° Watch Video Solution

71. A6 JCwelififod TUTIEoT FiN (it TTx =28y =-1: 2% — 83

° Watch Video Solution

72. Tod ASslffoD FUTIog I (ST WA x =28y =-1: % + %

° Watch Video Solution



https://dl.doubtnut.com/l/_um8Oa6l2YgQC
https://dl.doubtnut.com/l/_236BlbLpEH1v
https://dl.doubtnut.com/l/_PqMVc3vmpiT9
https://dl.doubtnut.com/l/_FeNt6xNXaBsO

73. 6 SIA GAT (S [PAWT | (F15 SOBIDT AT 717 BT |

° Watch Video Solution

74. 9316 oA Uiy (z — 2) BB (AU z > 2) 6 5 o A Fo

BiT TSI NI ST |

° Watch Video Solution

75. 4 ATH6 BB fBATO A | 1 ATNDE [FHBI WA 2x BIbl 2T (J6 PO BIdl

SISITT T2o719 BT |

° Watch Video Solution

76.4 X 2x = PO BIDI?

° Watch Video Solution



https://dl.doubtnut.com/l/_dXtkoa0bDa0a
https://dl.doubtnut.com/l/_TgnxzwLG4F8o
https://dl.doubtnut.com/l/_Q6arG089xeID
https://dl.doubtnut.com/l/_CJodjkmWfKqY
https://dl.doubtnut.com/l/_o3aXW5KOCrXw

77. Y I Q@IO1Y TGt 956 AROGEHa Aife TT 9% 3x GIfT 8 WET 4x G

, O 9% WIIPOGH (@] GHapd o 3 Ml |

o Watch Video Solution

78.3z x ( — bxy) f® 27 ¢ |

o Watch Video Solution

79.5z x 2’y x 2y S 7 o |

o Watch Video Solution

80. dfoEFa BAB (@ Bl : 7,2x

o Watch Video Solution



https://dl.doubtnut.com/l/_o3aXW5KOCrXw
https://dl.doubtnut.com/l/_qXjgtbTG1tmD
https://dl.doubtnut.com/l/_DV48YMYyutFD
https://dl.doubtnut.com/l/_kHLBb0M3z84B

81. Af6EFH (@ BAB (@ B! : -3x,4x
o Watch Video Solution

82. OGS @ BAPA [@J @I : -2x,— 322
o Watch Video Solution

83. Af6GH @ TP [@F IAT : 7x,0
o Watch Video Solution

84. dfoGH @ 37D @I I : 3ab,4ac

o Watch Video Solution

85. AfoGH @ VTP [T IEI

: 8:1:2,2y2



https://dl.doubtnut.com/l/_VCWJJ5m11uwG
https://dl.doubtnut.com/l/_ACC7tZW0U1ZT
https://dl.doubtnut.com/l/_HfGlqoqTwz2q
https://dl.doubtnut.com/l/_zlQbUsOXgVXe
https://dl.doubtnut.com/l/_QOeajm9McZbP

° Watch Video Solution

86. AfOGH @ BTPA [@F IE! : 2ab,3ab’

° Watch Video Solution

87. SfoGHa ITDA @ B : (-4xy),(-4xy)

° Watch Video Solution

88. 8x (& 2 ity SISt I (AW = # 0)

° Watch Video Solution

89. 164 SISt BT 68T FE! : 9a°® + o>

° Watch Video Solution



https://dl.doubtnut.com/l/_QOeajm9McZbP
https://dl.doubtnut.com/l/_Gf2bjGUDGCEc
https://dl.doubtnut.com/l/_tBGBgirVoB1f
https://dl.doubtnut.com/l/_uPDrfABCyIwg
https://dl.doubtnut.com/l/_nj9U70gGuyxL
https://dl.doubtnut.com/l/_nHNZBBpleiuc

90. A6 SISIBfeT AT BT IET : — 13xy? + 2°

° Watch Video Solution

91. AITHA SISIBfeT BT (B8 PW : ( — 252°pg®) + ( — 5pq)

° Watch Video Solution

92, A6 SR A GBI I@I : 15zyz + ( — 15zyz)

° Watch Video Solution

93, R IR qWIAT SeTaife 6 6 o1F aite | €4fo oIt x 6 I @ &E |
oo Aify 5% IEMR, '93 JRIEAT Sediiid 5K 3@ 8 &g 15 6 3@ Jgv

ST 3 15 oI T Sitst ©ist S NE 14T | 17 S et JgA

O 4o BItd Fosfel 92 YT |

° Watch Video Solution



https://dl.doubtnut.com/l/_nHNZBBpleiuc
https://dl.doubtnut.com/l/_9c1owPmNOAFl
https://dl.doubtnut.com/l/_MovFcGDyBqKZ
https://dl.doubtnut.com/l/_CuopWiMyhEMu

94. (6x + 15) - 3x T SIst ST |

° Watch Video Solution

95. (8333 + 7z + :B2y) & 22 i tst BT |

° Watch Video Solution

96. ( — 90a’b” + 80a’b® — 50a*b*) - 10a”b T 15 BT |

° Watch Video Solution

97. ¥ T 9 Il : 3a % 4=

° Watch Video Solution



https://dl.doubtnut.com/l/_CuopWiMyhEMu
https://dl.doubtnut.com/l/_Qdg9o5izZsnF
https://dl.doubtnut.com/l/_rpRuU1KUaZKx
https://dl.doubtnut.com/l/_fOHZ7rfYGsf6
https://dl.doubtnut.com/l/_st2KsVJAcuyH

98. I J(H f7Id Bl : 12ab + 3a =

o Watch Video Solution

99, ¥(H ¥ NI @I : 12ab +~  =4ab

o Watch Video Solution

100. ¥ JH IR BEI: ( — 2°) x z =

o Watch Video Solution

101. IF T T @ : 922 + 322 =

o Watch Video Solution

102. 3@ I IR I@I: 22 x 22 =


https://dl.doubtnut.com/l/_Tpg5wEe5Y4Lc
https://dl.doubtnut.com/l/_ZfJCenflcWqC
https://dl.doubtnut.com/l/_h3OdvoxthxAU
https://dl.doubtnut.com/l/_6ftzLKSpQnxl
https://dl.doubtnut.com/l/_t7kb2Sh5fNcj

° Watch Video Solution

103. I I NI @I : 22 x =1

° Watch Video Solution

104. @ JH I SEI: 0 =+ ab=

° Watch Video Solution

105. ¥ I TR @I : 4a’b%c® x =0

° Watch Video Solution

106. A A DIT DA : 3ab = =a

° Watch Video Solution



https://dl.doubtnut.com/l/_t7kb2Sh5fNcj
https://dl.doubtnut.com/l/_4szavYrOShaj
https://dl.doubtnut.com/l/_6AzxUSeGjExy
https://dl.doubtnut.com/l/_WeB4Iei3emIN
https://dl.doubtnut.com/l/_p8SGUcRoDqiw
https://dl.doubtnut.com/l/_RS6WOWAlRyBh

107. TR TR IR d@: 2 x y=

° Watch Video Solution

108. H JH IR PEI: = = 0 =

° Watch Video Solution

109. B B@I: 222 x ( — 3y) x 62

° Watch Video Solution

10. 37 @ : Tey? x 82’y x zy

° Watch Video Solution

M. SADEI: ( — 3a?) x (4a’b) x (—2)


https://dl.doubtnut.com/l/_RS6WOWAlRyBh
https://dl.doubtnut.com/l/_SMlZ060UUSdT
https://dl.doubtnut.com/l/_883vjeyKyhvE
https://dl.doubtnut.com/l/_kYrPlfedGhsP
https://dl.doubtnut.com/l/_N0d4CP36xxx2

° Watch Video Solution

1
NM2. 833l : ( — 2mn) X Em2n2 x 13m*n*

° Watch Video Solution

2 3
113. B I : §x2y X gwy2

° Watch Video Solution

18 25
114. B I : <— ?w2z> X (Ta:z2y>

o Watch Video Solution

3 15
N5.87IQM: [ — —s%t ) x | —st?u | x T su?
5 7 9

° Watch Video Solution



https://dl.doubtnut.com/l/_N0d4CP36xxx2
https://dl.doubtnut.com/l/_4AkmvDcCIsql
https://dl.doubtnut.com/l/_v3JkeFIDhPkT
https://dl.doubtnut.com/l/_bXaFUwlDDA3F
https://dl.doubtnut.com/l/_k6Dw0TbiLcW8

4 , L, 2
116. B Il : (gm yz) X (gy zm) X (— 6ryz )

o Watch Video Solution

117. ST W : 4a(3a + 7b)

o Watch Video Solution

118. 87 Bl : 8a® x (2a + 5b)

o Watch Video Solution

19. B FWI: — 1722 x (3z — 4)

o Watch Video Solution

2
120. B Il : gabc(a2 + b — 302)


https://dl.doubtnut.com/l/_SlH8rx1Y9OPp
https://dl.doubtnut.com/l/_B0FXnsqfdIzN
https://dl.doubtnut.com/l/_ia305h1NUHb6
https://dl.doubtnut.com/l/_ahWpHsSWTGDm
https://dl.doubtnut.com/l/_1zIEiuXhPJZi

° Watch Video Solution

121. 8 FWI : 2 x 5z (10z%y — 100zy?)

° Watch Video Solution

122. S Q! : (22 + 3y) (52 — v)

° Watch Video Solution

123. 84 FWI : (a® — b?)(2b — 6a)

° Watch Video Solution

124. 839 3QM: (z + 2)(3z + 1)

° Watch Video Solution



https://dl.doubtnut.com/l/_1zIEiuXhPJZi
https://dl.doubtnut.com/l/_AuVcHM9ILpBq
https://dl.doubtnut.com/l/_PfsIYYDlwlVR
https://dl.doubtnut.com/l/_opobIohPuDGR
https://dl.doubtnut.com/l/_gOXrVFnEd4iT
https://dl.doubtnut.com/l/_QODR5mfv79eE

125. 5191 €fe SMfITe 3x 6 Biasie Aifsigre | a33da 2x 6 sMifdre St osfa

IS SAIfSTE e Sl |

° Watch Video Solution

126. 936 WTOGH@d WEdT (4= + 1) TIBIT 932 &% 3x IR | AWOGEHEA

GHaDel Do NI BT |

° Watch Video Solution

127. 1 GG HeTId AT WA (ATP 6 BIDT QISR | SISt 1 TG BTl i x B!

ATBeT, QUA 2x GO (DieTl [PATO FO BIBT AN 2117 BT |

° Watch Video Solution

128. aF6 ISMPIT GHTad dfoded et 7x OIfF et |, IfIPIT Ghta GHama

PO (T |

| e |


https://dl.doubtnut.com/l/_QODR5mfv79eE
https://dl.doubtnut.com/l/_zuqdkOaXkTRc
https://dl.doubtnut.com/l/_CQRj69EGJWVD
https://dl.doubtnut.com/l/_dYjFGbedVgeO

I & Watch Video Solution ]

129, SIIYOEHad GHame 8z I 9Fd | MdT 4x 9 2, 9% PO A© A@

I BT |

° Watch Video Solution

130. In our village, Sankarbabu bought 350 chilli plants for planting in his
rectangular land. When he put the plants in rows, he noticed that, if he
would put 24 rows more than the number of plants in each row, 10 plants

would remain excess. Calculate the number of plants he put in each row.

° Watch Video Solution

131, 9T MG FLTIIAND FOTT FsMfAfEs FLUTITT ey Sist Bt

: 823D, 2%b

° Watch Video Solution



https://dl.doubtnut.com/l/_dYjFGbedVgeO
https://dl.doubtnut.com/l/_Oz8WBcDhCwY8
https://dl.doubtnut.com/l/_GrgpZjWKAO6W
https://dl.doubtnut.com/l/_auWGM4tvNIXd

132. U ASHMAED STYTITANS [Goig FTHIfeD SeUTaret T Sist St

P — 9:13y3, Ty

° Watch Video Solution

133, 9 ASHNAED STYTITANS [Goig FTHIfeD SeUTaiet T Sist St

P — 15:132y4z2, — x2yz2

° Watch Video Solution

134. 94T AoElffod YT Fog Jouififes st i ofst

I@: 211°m3n3, — 41%mn

° Watch Video Solution

135. 9T ASHNAED STYUTITANS [Goig FTHIfeD SeUTaret g Sist Hat

: (5a2 — 7ab2), a

| e |


https://dl.doubtnut.com/l/_mPI0ScT72yzM
https://dl.doubtnut.com/l/_AXlxanNA1iAD
https://dl.doubtnut.com/l/_VnAyvmTy8bdd
https://dl.doubtnut.com/l/_TzJHwr7C70m0

I & Watch Video Solution

136. 9T ASHMTAED ST [Goig FTHIED STt T Sist Hrat

: (- 482° + 122°), 32°

° Watch Video Solution

137. ST JSifefos SUTIAIED GOty Ao Seuttet i ist Bt

: 15m?n + 20m2n2, Smn

° Watch Video Solution

138. AT ASHMTAED ST [Goig FTHIGD STt g Sist Hrat

: 36a°b? — 240V, — 4a’b?

° Watch Video Solution



https://dl.doubtnut.com/l/_TzJHwr7C70m0
https://dl.doubtnut.com/l/_bWx01j1qotvf
https://dl.doubtnut.com/l/_pPrsSinfcf2q
https://dl.doubtnut.com/l/_90THVPxfBk6a

139. g ASHNAED SIYUTITANS [Goig FTHIfeD SeUTaret T Sist Brat

: 3pgr + 6p*qr® — 9p’q*r®, — 3pgr

° Watch Video Solution

140. 9T JTElffod ST Fog Josififos siedrater g ofst

@ m2nt + mPn® — min?, — mint

° Watch Video Solution

141,577 dWM: a(b — ¢) + b(c — a) + c(a — b)

° Watch Video Solution

14257 W : a(b — ¢) — b(c — a) — c(a — b)

° Watch Video Solution



https://dl.doubtnut.com/l/_GLWZOMMXw26x
https://dl.doubtnut.com/l/_ts8lpo8NB2nJ
https://dl.doubtnut.com/l/_txFUFIDpXvZr
https://dl.doubtnut.com/l/_yQMeH3tx6rbF
https://dl.doubtnut.com/l/_I66q6F83MvLr

143,57 QI : z(z + 4) + 2z(z — 3) — 3z

o Watch Video Solution

144,536 @ : 322 + z(z + 2) — 3z(2z + 1)

o Watch Video Solution

14557 PRI : (a + b)(a —b) + (b+¢)(b—c) + (c+ a)(c— a)

o Watch Video Solution

146. AqeT 6]l

(a2 + b2) (a2 — b2) + (b2 + 02) (b2 — cz) + (62 + a2) (c2 — a2)

o Watch Video Solution



https://dl.doubtnut.com/l/_I66q6F83MvLr
https://dl.doubtnut.com/l/_NpOsnSSPw94c
https://dl.doubtnut.com/l/_eR7aMWSeMGK4
https://dl.doubtnut.com/l/_cXLp39701iPb

